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X4492
0 x 4492 = 0

1 x 4492 = 4492

2 x 4492 = 8984

3 x 4492 = 13476

4 x 4492 = 17968

5 x 4492 = 22460

6 x 4492 = 26952

7 x 4492 = 31444

8 x 4492 = 35936

9 x 4492 = 40428

10 x 4492 = 44920

11 x 4492 = 49412

12 x 4492 = 53904

13 x 4492 = 58396

14 x 4492 = 62888

15 x 4492 = 67380

16 x 4492 = 71872

17 x 4492 = 76364

18 x 4492 = 80856

19 x 4492 = 85348

20 x 4492 = 89840

21 x 4492 = 94332

22 x 4492 = 98824

23 x 4492 = 103316

24 x 4492 = 107808

25 x 4492 = 112300

26 x 4492 = 116792

27 x 4492 = 121284

28 x 4492 = 125776

29 x 4492 = 130268

30 x 4492 = 134760

31 x 4492 = 139252

32 x 4492 = 143744

33 x 4492 = 148236

34 x 4492 = 152728

35 x 4492 = 157220

36 x 4492 = 161712

37 x 4492 = 166204

38 x 4492 = 170696

39 x 4492 = 175188

40 x 4492 = 179680

41 x 4492 = 184172

42 x 4492 = 188664

43 x 4492 = 193156

44 x 4492 = 197648

45 x 4492 = 202140

46 x 4492 = 206632

47 x 4492 = 211124

48 x 4492 = 215616

49 x 4492 = 220108

50 x 4492 = 224600
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